DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

DIVISION WITH 1 TO 10 Hame
Time: Score: y—

91) —38848 = 4 — 06) —21825 +5 =
92 —T77.04 =10 = ) 11.256 =2 =
9% —4591.2 -6 = 08 59202 + 9 =
w8349 =10 = 09 4150 + 2 =
%) 032.3 =1 = 110y —314.46 -6 =
96) —7.014 =7 = 1y 4,135+ 5 =
o —1005.8 =2 = 12 —96.68 =4 =
%) —30036 = 6 = 13 3966.5 -5 =
99) 754.32 + 8 = 1) 10.792 + 2 =
100 11976 =— 6 = 15) 32.245 + 5 =
oy 1012.2 +2 = 1o 9.34 +2 =
102) —7.416 =9 = un 129.7 =10 =
103) 19233 =9 = 1) —6003 + 3 =
101 5432 +4 = 19 —6396 + 3 =
105) 7581 =7 = 1200 7.824 -6 =

Mathematics: Division - Level 6 - Horizontal - Set 2
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